
Your Enclosure Source R

BILL OF MATERIAL 
PART DESCRIPTIONQTYITEM

Flange Nut - Serrated - 10-32 - Steel - Zinc Plated Clear11

Flat Washer - 10-32 - 0.21 X 0.52 - Steel - Zinc Plated Clear12

Ground Label - 0.75 inch Dia.13

Hex Head Cap Screw - Full Threaded - 10-32 X 0.63 - Steel - Zinc Plated Clear14

Hex Nut - 10-32 - Steel - Zinc Plated Clear15

Tooth Lock Washer - Internal/External - 0.25 - Steel - Zinc Plated Clear16

SHEET: 1 OF 1

MATERIAL UNLESS SPECIFIED

SEE BILL OF MATERIAL

CUSTOMER I.D.:  SCE2

REV: --PART NUMBER:  SCE-114318DATE:  04/21/14

CUSTOMER:  SAGINAW CONTROL & ENGINEERINGDRAWN BY:  PURTILL

DESCRIPTION:
Bolt Pack - Grounding Kit - 0.25-20

 5 

 1 
 2 

 4 

 6 

 3 


